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QUESTION 1

Select three correct Workforce Structure definitions. (Choose three.) 

A. Department 

B. Location 

C. Division 

D. Geography 

E. Facility 

F. Country 

Correct Answer: ABC 

 

QUESTION 2

An organization has multiple legal entities that need to be registered with more than one jurisdiction. Also, legal authority
information needs to be printed on statutory reports. 

As an Oracle Global Human Resources Cloud implementation consultant, which three options must you be aware of
while defining legal jurisdiction and authorities for this organization? (Choose three.) 

A. Because there are multiple registrations, at least one jurisdiction must be defined as the identifying jurisdiction. 

B. When a legal entity is created, one legal reporting unit is automatically created for that legal entity with a registration. 

C. Income tax jurisdiction needs to be created to report income tax to the legal authority. 

D. Legal authorities are mandatory in Oracle Global Human Resources Cloud. 

E. Legal authorities are defined in Enterprise Structure Configurator. 

Correct Answer: ACE 

 

QUESTION 3

In an organization, a line manager is going on a long vacation and wants all his approval notifications to 

flow to his supervisor for approval in his absence. How can he accomplish this task? 

A. A system administrator always has to reassign the approval notification to the supervisor in the line manager\\'s
absence. 

B. The application automatically delegates the approval to his supervisor based on the leave applied for by the line
manager. 

C. He has to configure new approval routing policies. 
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D. A Vacation rule can be set under the Preferences section of worklist notification\\'s Human Capital Management
server. 

Correct Answer: D 

 

QUESTION 4

Your customer is hiring an employee and assigning a line manager to the newly hired employee. What group of people
can be selected in the instance as an employee\\'s line manager? 

A. The line manager search is based on the public person security access. 

B. The line manager search is based on the job in which the employee is hired; only the job grade higher than the
employee job will appear in this list. 

C. The line manager search is based on the position hierarchy. Therefore, if an employee is hired in a particular
position, the search will populate employees with a higher position than the newly hired employee. 

D. All the employees whose employment record has the "Working as Manager" check box marked as "Yes" can appear
in the drop-down list. 

Correct Answer: C 

 

QUESTION 5

As an HR manager in your organization, you want to categorize the hiring process as part- time hiring and full-time
hiring. Identify the correct statement to meet this requirement. 

A. Create two new actions: hire part-time employee and hire full-time employee. 

B. Create two new action types: hire part-time employee and hire full-time employee. 

C. Create two new action types and associate them with the existing action, Hire. 

D. Create two new action and associate them with the existing action type, Hire an Employee. 

E. Create two new actions and new action reasons and associate them with each other. 

Correct Answer: D 
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